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7 100kN/mM%#BZ % — - ~ — —|3m%TiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 -~ 4.69 5846 | FnRS | 0.00 ~ 469 | 1.83 979 st 1.00 | 6.00 ~ 5.00 58.46 | ThLS | 5.00 ~ 5.00| 1.83 979
2 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.75 59.21 | #nRS | 000 ~ 4.75| 1.78 9.52 st 1.00 | 6.00 ~ 5.00 59.21 | =h4 | 5.00 ~ 6.00| 1.78 9.52
3 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.69 5848 | =S | 0.00 ~ 469 | 1.93 10.33 st 1.00 | 6.00 ~ 5.30 58.48 | =h4 | 5.00 ~ 530 | 1.93 10.33
4 100kN/mM%E#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS - ~ — — —
s 1.00 | 0.00 ~ b5.55 69.30 | FnLSY | 000 ~ 555| 1.86 9.94 st 1.00 | 6.00 ~ 6.30 69.30 | =St | 5.00 ~ 6.30)| 1.86 9.94
5 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.18 77.55 | #hS | 000 ~ 000 | 1.63 874 st 1.00 | 6.00 ~ 740 77.55 | ThSY | .00 ~ 7.40) 1.63 8.74
P 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 5.12 63.83 | =nst | ooo ~ 000 | 1.69 9.02 st 1.00 | 6.00 ~ 5.50 63.83 | TS | 5,00 ~ 550 1.69 9.02
- 100kN/m%#8%% | 1.00 | 000 ~ 1.38| 121.02 |3mE#Z3| — ~ — — — | 100kN/ %825 | 1.00 | 1057 ~ 1500 121.02 |3m%E#BZ% - ~ — — —
s 1.00 | 1.38 ~ 917 100.00 | #nlst | 0.00 ~ 9.17| 2.42 12.97 st 1.00 | 6.00 ~ 1057 100.00 | =nst | 6.00 ~ 1500 2.42 12.97
P 100kN/m%E#8z5 | 1.00 | 000 ~ 188 12897 |3mzx#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 1085 ~ 19.09| 12897 |3m%EiBz% - ~ — — —
s 1.00 | 1.88 ~ 967 100.00 | #nlst | 0.00 ~ 9.67| 2.25 12.04 st 1.00 | 6.00 ~ 1085 100.00 | =nst | 6.00 ~ 19.09| 2.25 12.04
9 100kN/mM##BZ5| 1.00 | 000 ~ 214 133.13 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10564 ~ 19.10| 13313 |3m%E#BZ% -~ — — —
s 100|214 ~ 992 100.00 | #nlst | 0.00 ~ 9.92| 2.35 12.56 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 19.10| 2.35 12.56
10 100kN/m%E#8z5 | 1.00 | 000 ~ 1.73| 12649 |3mx#8z3| — ~ — — — | 100kN/ %825 | 1.00 | 11.12 ~ 19.08| 126.49 |3m%E#BZ% -~ — — —
s 1.00 | 1.73 ~ 951 100.00 | =St | 0.00 ~ 9.61| 221 11.83 st 1.00 | .00 ~ 1112 100.00 | =nst | 6.00 ~ 19.08| 2.21 11.83
11 100kN/m%E#8z5 | 1.00 | 000 ~ 1.73| 12651 |3mx#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 1083 ~ 17.96| 126.51 |3mE#BZ% -~ — — —
s 1.00 | 1.73 ~ 951 100.00 | #nlst | 0.00 ~ 9561|225 12.06 st 1.00 | 6.00 ~ 1083 100.00 | =nst | 6.00 ~ 1796 2.25 12.06
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ Fhst ~ FhLst ~ zhLst ~




